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OFAEAD AANMEA QS HI XA
12,000, 000 = 1Al 12,000
J| 6,000
=} 3,000
Al 3,000
el oAl 2e| X & AH 403,089 0 403,089
J| 200,000
< 100,000
Al 103,089
201 et | 1,500 0 1,500
01 AP 22| H| 1,500 0 1,500
Ogtf2H| 1,500
—Helolsa e XN]JqNEH S22 M & 1,500
LN} 1,500& *x1,0004 1,500
202 044 1,589 0 1,589
01 2L I 1,589 0 1,589
OelolsA 22 XME =2 35 &
A0 H| 64,8003 *3H *23] 1,589
307 ©12+0I & 400,000 0 400,000
J| 200,000
= 100,000
Al 100,000
05 QIZtREZ 400,000 0 400,000
OeloIsSA22XNHE 29 A
400,000,000 = 1J0 & 400,000
J| 200,000
o= 100,000
Al 100,000
HHSAHAY (HLSE ) 385,625 220,031 165,594
J| 142,248
Al 243,377
J2Zd (A= & ) 86,453 44,165 42,288
J22H (HASE D) 86,453 44165 42,288
201 gEt24Hy| 26,861 22,089 4,772
01 AP 2t 2] d| 23,291 16,220 7,071
OgBtf=2H| 14,737
—Jl2 MREE 100, 000& »27H 2,700
— ZA2 X 20,000& x 102t A 128 2,400
—2AJ SA2A2(EY L EH RYUE)
480,000& *2[H x4 3] 3,840
— T2 SAAU(EHRY S)
237 ,000& x2[H x4 3] 1,896
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AN A2SE D
M #Y2IZH(AZST D)
Chel: D= B (AZEAD) (sl &2)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— WA X2l 110,000& «1CH »23] 220
— YU sS4
2,000& *117kg* 128 2,808
— s Y B L4
900& «60kg*12& 648
— XA IEY =8
300,000,000 *5%=*1.5% 225
o1l =l 1,750
—SSEHYA AAMSE 100,000& «4&H »13] 400
~WEH 22NS 2L2(RUE)
55,000 *10E » 13 550
—F4M 22RS 222 (RUE)
200,000 x2H »23] 800
O= &l 6,804
—ALZHALEE S2OHAY|
7,000 <27 +32] «12& 6,804
02 =224l 3,570 5,869 A2,299
O3 & HA 3,570
—RESEYRIZ(SII) 1,630& 600 978
—RESYRI(YEIR2H) 2402 +900E+12& 2,592
202 044l 54,488 17,876 36,612
01 = LH o4 1l 54,488 17,876 36,612
OALBHLRET L0l b|
20,000 «27H 8L« 12& 51,840
OALZHYLEA 2 0fH|
264,800 x2H x53] 2,648
203 YR =& 4,104 4,200 A 96
04 NI 4,104 4,200 A 96
Oz&ds& 380,000& = 12& x90% 4,104
405 Xt&tE SHI 1,000 0 1,000
01 XAt = ZH S| 1,000 0 1,000
OMEA TV 7L 1,000,000& = 1CH 1,000
el 2 gl 299,172 175,866 123,306
Jl| 142,248
Al 156,924
KNAAME S8 ALSTAL (S22 AHAH22]) 192,200 91,320 100,880
J| 96,100
Al 96,100
101 @14 Hl 192,200 91,320 100,880
J| 96,100
Al 96,100
03 RIAHAZ 2 E =+ 192,200 91,320 100,880
OYSBAAY Feolzt ol (8y)
192,200,000& 14 192,200
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SN ABAY
M HYHAY|(HAZSZT )
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
J| 96,100
Al 96, 100
KA S8 HASTAI (AL SHEHIN A AL 0l 22 42,000 42,000 0
)
J| 21,000
Al 21,000
101 e1214| 42,000 42,000 0
J| 21,000
Al 21,000
03 RIAHS*ZZXHE = 42,000 42,000 0
OAHLHEY MAEAIY 2122 21,000,000& x2H 42,000
J| 21,000
Al 21,000
KAAE S8 HASZSTAIY (2H22|Ho) 28,750 21,000 7,750
J| 14,375
Al 14,375
101 Q124 H| 28,750 21,000 7,750
J| 14,375
Al 14,375
03 RIAHL*ZZXHE S 21,000 21,000 0
O2dZ2lYAME o 21,000,000& *1H 21,000
J| 10,500
Al 10,500
04 J|12ZtHIZ22NEES 7,750 0 7,750
OSSN THERQRA olAHY]| 7,750,000 x4l 7,750
J| 3,875
Al 3,875
ZINELXHUEESSSHEHAR L 36,222 21,546 14,676
J| 10,773
Al 25,449
101 Q124 4] 36,222 21,546 14,676
J| 10,773
Al 25,449
03 RIHL*ZZXHE = 36,222 21,546 14,676
ORI+ LS SSHH ARY
21,546,000 x1H 21,546
J| 10,773
Al 10,773
OAHLZE I HS 4UHEE DAL 3(6Y) 14,676
== 127,000,000 *1.5% 1,905
—MHEE = 127,000,000 *2 .508% 3,186
—A2AdEE= 127,000,000& *2.95% 3,747
—LoAARAEES 3,747,000 3. 28% 123
— 202882 127,000,000 *4.5% 5,715




